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Consider the following lists.
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Match the functions in List - I with their ranges in List - IT and choose the correct answer.
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Assertion (A) : (1) + (1+2+4) + (4+6+9) + (9+12+16) + ... + (81+90+100) = 1000
| n
Reason (R) : Z(}‘S —-(r- 1)3 ):}13 for any natural number 7

r=1
ANSSco (A): (1) + (142+4) + (4+6+9) + (9+12+16) + ... + (81+90+100) = 1000

. n
000 (R): 08 ISz Sopg 1 8 2(1'3 _(;-_1)3)=”3
r=1

Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)

1 (A) S8ciw (R) eo Bodr S8gdw S00cin (R) @38 (A) % S05308 J58w

Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
. (A) S08diw (R) @0 Bodr 38550 570 (R) @386 (A) § S0F0S e 5760

(A) 1s true but (R) 1s false
(A) d8g50 58 (R) edgsmn
./

(A) 1s false but (R) 1s true
) (A) o3850 Q0 (R) S&gi0
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If [x] 1s the greatest integer less than or equal to x and |x] 1s the modulus of x. then the
system of three equations

2x+3|y| +5[z] =0.x+ y| - 2[z] =4.x+|v| + [z] =1 has

[x] ©36 x 808 8595 B x & 5SS K0Q Froko, [x

WON B

SO0 X B, SO Doregho

2x+ 3 +5[z]=0.x+ |- 2|[z] =4.x + | + [z] =11
D Ede S§H98
@
Options :
a unique solution

1 J8E FES &odod

finitely many solutions
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no solution

P FOoWL
4

gcollegeduniaa

—
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Investigate the values of A and u for the systemx +2v+3-=6.x+3v+ 5z2=09.
2x + 5y + Az = u and match the values in List - I with the items in List - II.

X+2¥+3z=6.x+3y+5z=9. 2x + Sy + A== &3 SgBHB A L dendesd H8FH0D,
N - [ S Jdendo dHe - [I S°'Y oo 28358 0k.

List-1 List - II
D -1 e - 11
A) A=8.u#15 I) Infinitely many solutions
WI0S J0oPgE FEILI0LT AN
B) Az8upuelR II) No solution
PSS B
C) A=8.u=15 II) Unique solution

:3§§ TS Gotnod

The correct match 1s

HOGS T8
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2--3\ &
f=x+n, x, veR (x,v) # (0.—4) and Arg [ = +4i]:I‘ then the locus of - 1s

2-—-3

-+ 4

z=x+, x,ve R (x,¥) # (0.—4) 300550 Arg( ):% @008, = RE), Dododgo

Options :

) .
2x"+2y"+5x+5y—-12=0

2 2
2x°=3xvy+yv°+5x+y-12=0

2 7
2 +3y+y +5x+y+12=0

L

, 20+ 27— 1lx+Ty-12=0
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If -=x+iv. x, ¥ € Rand the imaginary part of 1s 1 then the locus of - 1s

Z—1

Bl

=

z=x+iv. X, V€ R 3500050 o8, 808 grifo 1 ©008 z BwE), Dothbdo

Options :
, Xty+1=0

x+y+1=0. (x,¥) # (0,-1)

-y

R |
g XF P X+ 3Y+E=40
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A 2+ jr:i —x+3v+2=0, (x,») # (0,.-1)
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If @ represents a complex cube root of unity. then
(1+i)(l+i,,)+( 2+i}( 2 +L_.,)+...+[ u+i]( n+i_,]
@ On w 0N w "

M O30 JEESD Qo) ws E&ugg Zwémwﬁg E&Pi’fﬁ

¥ . 1 1 1 1 1
l+— | 1+— |+ 24— || 24— |[¥.. H ot+— | n¥+— |=
o)\  w @ O @ "~

Options :

n (n?" +1)
1 3

ﬂ*(i*r2 +2)
3

12

n (”2 -2)

3. 3
n? (n—1)
4 6

Question Number : 10 Question Id : 1874633690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If @ 1s a complex cube root of unity then

9
Zr(r +1—w}(;-+1—-a}3)=
= |

D38 HEESN Bood), w8 éugg DIBrod

9
Y r(r+l-o)(r+1-0’)=

r=1

Options : .
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200 2P

3-4a 3-4p
ax’+bx+c=0and GCD of a. b.cis 1 thena+ b+ c=

~ . -
If o and P are the roots of x*+ 7x + 3 = 0 and are the roots of

4 Tx + 3 = 0 5Do88er 8 Soreren oL P en, axt + bx + ¢ = 0 HEEIE Sorreren

2o 205
3—4a 3-4p

20 20w a,b,c o Qo) KT lvond a+b+c=

Options :
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g, =
If 0. 3 are the roots of x“+ bx + ¢ =0. 7. d are the roots of x™ +byx +¢; =0 and y< < 8 <,
g
then (c—¢;)" <

o Peo .1'2+b.r+c=00':‘-.b§3, Sareren, ¥, 0o 33+b11'+cl=0®3352r Sogreren 00ain
Y<o<0<Peond (C—Cl)j <

Options :
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Question Number : 13 Question Id : 1874633693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Let a. b and ¢ be the sides of a scalane triangle. If A is a real number such that the roots of the equation
x+2(a+b+c) x+3A (ab+bc+ca) = 0 are real then the interval in which A lies is

a, b, c o0 af IR Sy BLEY Perodsod. SNET®o 2+ 2(a+b+c)x + 3\ (ab+bctca) =0

S8 8% Sorrerren c‘méé&g &0B TS Sowg A ond @Iy A 408 woddo

Options :
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Question Number : 14 Question Id : 1874633694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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The polynomial equation of degree 4 having real coefficients with three of its roots as

Z:tﬁ and 14+21. 1s

Ziﬁ. 1421 oo ot Sororeni™ O P90 Mmoo BOAS 4 8 85668 05038
HaET30

Options :
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1 o6 — 14 +22x+5=0

Yo —19v+22x-5=0

]

0

I

o632 +19v—22x+5

Yo+ 14 —22x+5=0

Question Number : 15 Question Id : 1874633695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

All the letters of the word ANIMAL are permuted in all possible ways and the permutations
thus formed are arranged in dictionary order. If the rank of the word ANIMAL 1s x. then the
permutation with rank x. among the permutations obtained by permuting the letters of the

word PERSON and arranging the permutations thus formed in dictionary order is

"ANIMAL' 3 5806 &) e§orodh ¢ghodyg o) dgrenm eidyr SOS oo
AWOoLNY EH0S" BT, wIydd "ANIMAL o35&0 QwE) §'8 ywowd, PERSON
o3 VGG wETrod Sra 20 JPom NG IT) PO dotnd EHos®
©YIIYE, TS x F'EM Ko (SRTS0

Options :

1 ENOPRS
, NOSPRE

, NOEPRS

i ESORNP

Question Number : 16 Question Id : 1874633696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A student 1s allowed to choose atmost # books from a collection of 2n+1 books. If the
total number of ways in which he can select atleast one book is 255. then the value of 77 1s

2nt]l PIEIwe JB0TchIn Hod (8K 1 YJFTOH JoLE DWEFFIE o8 T g Ssodo8oTdo.
wdg EAV0 w8 PIFQ) 0dE TWEHON IFSIve Indo Sopg 255 wand, ey 7 Jewd
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The sum of all the coefficients in the binomial expansion of (1+2x)" is 6561. Let

F

1
ﬁ. then 1—- 1+(ﬁ_1)4

R=(14+2x)"=I+Fwhere/e Nand0<F<1.If x=

(14+2x)" Bwg), BHE IJES* ) Hws e Iwgo 6561. R=(1+2x)"=I+F. T€ N,

1 F
D0SH 0<F <1 eodfomo. x= NG oY 1- =

1+(\E—1)4

Options :

(3v2-4)

1.

‘4(35 +4)

1
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If 3 e i Jl)
(=D +x#l) =1 Lexal 0 T
x+1 D &
> =,4f(.*r)+(B+__.]f (x) + ———
(x=1)% (x> +x+1) 1 1 1) .thenA+B+C+D

3 1 x+2 P
- - o =J1\X) = J2(X) 200030
(x—D(x"+x+1) x-1 x"+x+1 1 2 o0

x+1 D L
=‘4f(‘1‘)+[‘8+_]f(1)+—" LE ) E — —
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Single Line Question Option : No Option Orientation : Vertical

L 2
Let M and m respectively denote the maximum and the mimimum values of [ f (9)]" where

f(6’)=\/f:r2 cos>@+b’sin’ 0 + \/az sin” @+b>cos”@ - Then M—m=

‘ g : g, : : o 1 2 o,
7(@)=va*cos>8+b*sin? @ +Va’sin? §+b’ cos> @ wansdyeo [ ()] Swe, Ko,
ER o INIT M. mod HNYoTwNE0s. wdydo M —m =

Options :

g | 2
( &~ F 0

(a-b)’

L2

2 Al

(a+t b)2

Question Number : 21 Question Id : 1874633701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
60 7 , -
If cosd= %1 and tan B = g and neither A nor B is in the second quadrant. then the

A
angle 4+ — lies i the quadrant

60 7
cos‘—:l:—a., tmle—T 5000300 A5 ST B 5 BoddFsoest 8 Fooreons,
B X "
A+? oo 8’90 408 B0
Options :
i
1. 2
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Question Number : 22 Question Id : 1874633702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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2 g ~ . 2 - i _"-: ' . . . ~
COS 5°— c0os 15— s1in"15%+s1m~35°+cos15° simnlS5°— cosS® sin3se =

Options :

, 0

2 | W

9

Question Number : 23 Question Id : 1874633703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If cos@# 0 and secd— 1:(\/5- 1) tan @ then 6 =

cos@#0 500050 sect?—l:(ﬁ—l)tanﬁ wond 0 =
Options :

T
n.rr+§.;;ez

X
2112r+~1(or)2n}r. neZz

i-J

/8
2nm+ g.n el

X
?.n.fr-j(or)?.mr. ne’z
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32 n
cot ZCot‘l 1+22k =
R k=1

Dr.t_tiﬂns:
10
i, 5
8
3
14
g i3
16
. 3

Question Number : 25 Question Id : 1874633705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

- : - . oo
If sin x cos/r v=cos B. cos x sin/? v=sin 0 and 4 tan x = 3. Then s/ v =

- - - : W
SN X cos/t v =cos 0. cos x sin/r v =s1n 0 5008w 4 tan x = 3 @wowd smhy =

Options :
4

-,

L2
p——
(o)
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b+c c+a a+b cos A+cosB
= = .then =

In triangle ABC. if
9 10 11 cosC

b+c c+a a+b . cosA+cosB
= — Lo B, —

ABC &zgha0&",
9 10 11 cosC

Options :
9
10

10
11

f-.;
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[ ]
gcollegedumas
India’s largest Student Review Platform

el



In a A ABC. with usual notation. match the items in List - I with the items in List - IT and
choose the correct option.

2.& AABCS®, 2080 do8ared, ode -1S° voro., e - [ vorTod® 28500,
POGN PUFR) Di)EH0D0.

List-I (e - 1) List - II (=83 - II)
AR-r1 1y
A nn J( i ?2.] ) b
1+
Iy (13 + 15 5 ‘
B) J..2(3. 'l)_ : ) a’.b’c’arein AP
1375 + 1513 + 137
a’. b2 ?en wokF8s® dotrow
o) bﬁ_sin(:i—B) m A
7 ¢ sm(B-C)
' A4
D) b(’COSz? IV) Rr11'2r3

-

V) s(s—a)

The correct match 1s

OGS &8
Options :
A 838 € D

IV m IV

A

|
@)
|w,

vV N Il I

-2

e
[os)
(@}
|w)
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Question Number : 28 Question Id : 1874633708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a. b and ¢ are the sides of A ABC for which r,=8,r,=12 and r,=24 then the ordered
triad (a.b.¢c) =

a.b.cen AABC gharen s, r, =8.1, = 12. r; =24 wond |¥% ®8o (a.b.c)=

-2
~
f—
(B
[v—
N
D
-
o

(16. 12. 20)

(20, 16, 12)

Question Number : 29 Question Id : 1874633709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 4i +7)+8k.2i +3j+4k.2i +5j + 7k are respectively the position vectors of the
vertices A, B. C of A ABC. then the position vector of the point where the bisector of angle

A meet BC is

AABCG@0§, A, B, C35sn0 J8dae0 Scdm 4 +7) +8k, 21 +3] +4k. 20 +5] + Tk
wond, Faldn A Qg SSobipods Ty, BC % 9% Dotk SwE, FISHY

B . [

12
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27 +13] +6k

T x
2:‘+T '+ 6k

4- -
Question Number : 30 Question Id : 1874633710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of the plane passing through the point 7 +27 —k and perpendicular to the

line of intersection of the planes 7. (3i —j +k)=1 and 7. (7 +4j -2k)=2.1is

T+2] -k Doty fomddr, F.(37 — ] +k)=1 H00a0 7.(7 +47 —2k)=2 Soswe
DESBDE LOVOIT G008 S0 PDa€deo

Options :

1 r.(=2i =5j +k)=0

(7477 +4k)=0

-y

; 7.(2i =77 —13k)=1

. T.(=27+77+13k)=0

Question Number : 31 Question Id : 1874633711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the position vectors of the vertices A. Band C of AABCare 7 +27 —Sk.—27 +27 +k

and '2}" +j— F respectively then /B =

AABC&x§, §oven A, B, C o 8 $6%e0 SESm 7 +27 —Sk.—27 +27 +k . 27+ —F
wond wdyds /B =

Options :

-
Cos | ——
" ( 310 )
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Question Number : 32 Question Id : 1874633712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the position vectors of the vertices of a A ABC are 04=37 + 7 +2k.OB=7 +2] +3k

and OC=27 + 37 4k . then the length of the altitude of A ABC drawn from A is

ABC @ghain Bug, ¥ive IS8T S6O™ 04=3i +j +2k.0B=i +2j +3k
%0050 0C=27 + 37 +k @ond, ABC @ha50s08 43008 AdS &5H8 >8J.

Options :

1 | W

59

12

(] |&

I'-J| *.J.JI

Question Number : 33 Question Id : 1874633713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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A new tetrahedron 1s formed by jomning the centroids of the faces of a given tetrahedron
OABC. Then the ratio of the volume of the new tetrahedron to that of the given

tetrahedron 1s

OABC BBEND Foog). SPPIVO BT P IS00E SrdS FEENDA ErroboT . oS
AT SO ;36‘3&5 DD 0 RND FSEND D), WIBVITINY NFF I8

Options :

3

25

&
i

2

12

Question Number : 34 Question Id : 1874633714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Let§=2?+f—2£_" and.§=?+1_'. IfE is a vector such tl1at§_5:|5| ) |5_3‘:2.\E

and the angle between AxB and C is 30°, then the value of ‘( AxB)xC I 18

A=27+-2F . B=T+] o¥ob. o836% C &35 4.C=|C] . |C-4=22 Ho0ai
AxB, T o ags'mo 30° odginod wiyd |[(AxB)x T dens

Options :
2

L 3

v

12
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g . a,, are in an arithmetic progression with common difference d. then their
mean deviation from their arithmetic mean 1s

B, Aps ooy A &0 d DEPSG B0 EDS 28 wOEFES® G08, vaNd TE woEDBH0

Dod I8 fnégﬁc‘é MERTSINTS

2|d|

1

; 3d

12 [d|

Question Number : 36 Question Id : 1874633716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The variance of the following continuous frequency distribution is

Class Interval | 0-10 10-20 20-30 30-40

aJ
B
—_—

Frequency 2

& 18oh @Dﬁ&éﬁg DARYNG VPRI DWE), D8 :

S61é woddo | 0-10 10-20 20-30 30-40

9
7%
S
p—t

B3P0

Options :

i 201
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Question Number : 37 Question Id : 1874633717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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If two sections of strengths 30 and 45 are formed from 75 students who are admitted in a
school. then the probability that two particular students are always together in the same
section 1s

2.8 dTos” [0S 75 Hood Drgihods 30 Hood Hodin 45 obd fo Tod REM™
DFLoTW. a0 JPFODS G Daghhen JoBydr 28 WEOS' G oBodos Jogrhgd
Options :

66
, 185

12
%)
~1

Question Number : 38 Question Id : 1874633718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A bag contains 2n comns out of which n—1 are unfair with heads on both sides and the
remaining are fair. One coin is picked from the bag at random and tossed. If the probability

that head falls in the toss is 56 then the number of unfair coins in the bag 1s

28 J00S* fo 2nTBed’ -1 5800 Dok Yo 7o KOS Jamond B T B,
DAOSD JNEE TBeo. & Hod 0d uf TR arSREer b IHEIFD. &

41
AMEISS" 75008 Soerdyd 56 ©ond, & NS Tod IYo e EONS TBeo
éuag

Options :

; 18

15

L2

433

4 14

Question Number : 39 Question Id : 1874633719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Bag A contains 6 Green and 8 Red balls and bag B contains 9 Green and 5 Red balls. A card

1s drawn at random from a well shuffled pack of 52 playing cards. If it 1s a spade. two balls
are drawn at random from bag A. otherwise two balls are drawn at random from bag B. If the

two balls drawn are found to be of the same colour. then the probability that they are drawn
from bag A 1s

200 Ae*® 6 s, 8 G woes S8k H00 B &* 9 sfDHI, 5 G woden
S0, T DS 52 Snge HLHE EL%00s uE HE Sob S STK. wb Ty
©onB Jod A dod oirdyEor Tok wodod ST s HFod" Hod B Hod
Sy Eorr Dok woden SXW. wor GBS & Tod woden & Joibd wond, ©d
Q00 A Hod 8J3D 5T RS Sogrhgd

Options :
43
. 181
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Question Number : 40 Question Id : 1874633720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

A random variable X has the probability distribution

X=x,

|

2

3

4

6

P{X=x) :

0.2

0.3

0.1

2

e

0.1

0.08

If A= {x,/x, 1s a prime number}.

= {x,/x, <4} are two events thenP (AUB) =

2.8 aﬂré&%g LOTs Xcﬁ:@é& 02T 5&5 T2 N0
X=x 1 2 3 4 5 6
P (X =.Tf) : 0.2 0.3 0.12 0.1 0.2 0.08

A= {x;/x; &8 (DS Sopg ). B= {x;/x; <4} en Tod bden wond P(AUB) =

Options :

1

-

10.31
0.62

10.82

0.41

Question Number : 41 Question Id : 1874633721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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In a Poisson distribution with unit mean. Z Ix-x|P(X=x)=
x=0

(X is the mean of the distribution)

S50 BT KONS w8 Jonad dgrados* ) |r—T|P(X=x)=
x=0

(¥ 038 deraso B, S85500)

Options :

c
L

!.J
m |

Q|

et
%J|M.

Question Number : 42 Question Id : 1874633722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two straight rods of lengths 2a and 2b move along the coordinate axes in such a way that
their extremities are always concyclic. Then the locus of the centres of such circles is

2a 500050 2b FEHew AONS Todkd X §Gew, T8 Fiew Jodydr JETEao
e@gAGOMT JLrITESNe Dowd FORTow. werodd HFSwe BwE), Soine Dotodo

Options :

1 2 (+° +_1'2) =a + b

b W ., ESS 2
l2(:¢ —Vv)=a"+b

3 :r?+;t-"1"=a'2-+-b1
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Question Number : 43 Question Id : 1874633723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When the coordinate axes are rotated about the origin in the positive direction through an
w . . 2 2 . 2 2
angle e if the equation 25x~ + 9v° = 225 is transformed to o™ + Bxy + ° = &. then

2
L

+(cx+ﬂ+ y—-\/g)

Sorododd) Solom S5695° JErGE wsem % F00s* FHhmo SoBoDSBYE,

2512 + 917 = 225 $DE8wo ax’ + Bxy + P’ = 8 & Srdoddo BodS, @5y E
‘ 2

(a’+ﬂ+ 7-J3) =

Options :

[

=
\O

4. 16

Question Number : 44 Question Id : 1874633724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of the line through the point of intersection of the lines 3x —4y+ 1 =0 and
5x + v — 1 = 0 and making equal non-zero mtercepts on the coordinate axes is

S5EBpos 3x—4y+1=050000 51+1—1=00 pods DotbHomddr, IErHSTeD
DIrS BrI380 wodd pomoH Do ST SAEdwo
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3

4

23x+23y=11

2% =1

Question Number : 45 Question Id : 1874633725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The line through P (a. 2). where a# 0. making an angle 45° with the positive direction of
; 2 o2
the X-axis meets the curve '9 + '4 =1 at A and D and the coordinate axes at B and C.

If PA. PB. PC and PD are 1n a geometric progression then 2a =

2 .
(#0 wonS53E: P (4. 2) HomFér, &5 X-wgos* 45° E'mo T 55639, Sgo “9 " -‘4 =1

% A.Do 5¢5; dsrsrgos B, Co 55 §e0308. PA, PB. PC, PDev o8 Hn@ss®

G608 2a=

Options :

1

L2

XD

-13

Question Number : 46 Question Id : 1874633726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of the perpendicular bisectors of the sides AB and AC of a AABC are

x—y+5=0andx+2y=0respectively. If A is (1. -2). then the equation of the straight line
BC is

AABC &° shadoes AB %0800 AC Roog), oo SDEIPOES e DSEdcadoen
S0Od x—y+5=05000 x+2y=10. A (1. -2) ©on8, wdiyd BC 3563 Bwg,
D Ed0

Options :

1.

7

14x + 23y —40=0

12x + 17y —-28=0
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, 14x-29y-30=0

12y +15=
A Ix—12y+15=0

Question Number : 47 Question Id : 1874633727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If each line of a pair of lines passing through origin 1s at a perpendicular distance of 4 units
from the point (3. 4). then the equation of the pair of lines 1s

Drododhd) KHoFTFeH wE JEFBraini o’ Tpen wEH Y, (3. 4) o3 Dok
DO 40“5}3"3@: 002 &rdoss* &0, e E’adﬁaa}*dﬂnﬁé S Ebe00

Options :
2

1 X"+ 24xy=0

, Ty +24xy=0
2

; v =24xy=0
2

) Ix*=24xy=0

Question Number : 48 Question Id : 1874633728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

a3 . b & 2 i
Variable straight lines v = mx + ¢ make mtercepts on the curve v”—4ax = 0 which subtend
a right angle at the origin. Then the point of concurrence of these lines v=mx + c 1s

y=mx +c o3 35008 38bpen 1 —dax =050 T vodbpomen, Sarododd 5¢
©0o8%rd) BRTHoW. IPH weorol ¥ =mx + ¢ o3 Tpo Q0§ ©oRg Dok

Options :

. (4a. 0)
i (2a. 0)

" (—4a. 0)
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Question Number : 49 Question Id : 1874633729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

’ . . 7 .
The abscissae of two points P. Q are the roots of the equation 2x™+4x—7 = 0 and their
. . 2 . .
ordinates are the roots of the equation 3x™—12x—1 = 0. Then the centre of the circle with
PQ as a diameter 1s

P. Q ©3 Bodk DodoYe 1-8rd57en 2x+4x—T7 = 0 SD0ES°J8 Soreren, ¢S
1-AErH5e0 3x7—121—1 = 0 520867 I; Soreren w008 PQ 2§ Frgdom Ko Sy Sogo

Options :

L (1.2)

(2.6

-2

3 (l _2)

(2. -6)

Question Number : 50 Question Id : 1874633730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the angle between a pair of tangents drawn from a point P to the circle

. % . i .
>+ 4 4x — 6y + 9 sin“0L + 13 cos’a = 0 is 20 then the equation of the locus of P is

o€ DohY P B008 -I—_I'2 +4x — 6y + 9 sin“0L + 13 cos’0L = 0 &3 5)T:R8 Hdd o8
‘é}gégém‘u‘i}:ﬁ&u B0E). &ég?wu 20 90208, P Q&) Doddes Habddwo
Options :

2 2
, why +4x-6y+4=0

2 2
X+ +4x-6v-9=0

L-2

xz+_1'2—4.1‘+6_1f—4= 0

P+ +A—6v+9=0
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Question Number : 51 Question Id : 1874633731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of the circle whose radius i1s 3 and which touches internally the circle

gt _1'2 —4x—6v—12=0 at the pomnt (-1.-1) 1s

3-2+_1'3-4.1'—6_1'-12=0 o3 EA) (-1, —1) DotbP S§ woddorr dyeda, Fg>go 3 m
fo S8 D080

Options :

5x2+51° +9x—6y—-7=0

-

1 .
5x"+5y"—-8x—-14y-32=0

L-2

-

; )
Xx“+5y"—-6x+8y—8=0

7

: )
Sx“+5y"+6x-8y—-12=0

Question Number : 52 Question Id : 1874633732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. " 5 2 ' ;
Suppose that the circle x™ +v" +2gx+ 2 fv+¢ =0 has its centre on 2x+3y—7=0 and

cuts the circles x> + .1'2 —4x—-6v+11=0 and X+ .1-'2 —10x—4v+21=0 orthogonally.
Then 5g—10f +3c =

2

_ 2 | E
X+ +2gx+2fi+c=0 o3 Hgo, T Bo) 2x+3y—-T7=0 DS 00 &0,
"9 2 . 19 b . e
X“+y " —4x—-6y+11=0, x"+y" —-10x -4y +21 =0 &3 oo ﬂ.}uaa&cﬁéu Bod
ooRoTo. v 5g-10f+3c=

Options :

y O

L2
—

Question Number : 53 Question Id : 1874633733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical .
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: . : e D )
If the radical axis of the circles x~ + .1'2 +2gx+2fy+c=0and 2x" + 2y  +3x+8y+2¢c=0

touches the circle x2 + y2 +2x+2y+1=0. then (4g —3)(f -2) =

X+ _1-2 +2gx+2fv+c=0 50050 2x? +2_1r2 +3x+8v+2c=0 &3 JBI0L DrUE

¥+ 423420 +1=0 ©F SyEQ) H)ted esyd (4g-3)(f-2)=
Options
L 0
. |
3. 1
4 2

Question Number : 54 Question Id : 1874633734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The parabola x” = 4ay makes an intercept of length /40 units on the line y =1+ 2x then
a value of 44 1s

Sodecho x2 =4ay 668 y=1+42x D V40 ohrdly FEHie wodE pord) 50D
E.E:Efﬁ(ﬁa 4a 8§ 2.8 DN
Options :

-
| -

=

Question Number : 55 Question Id : 1874633735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

3 : : ; C 9 A
The locus of the points of intersection of perpendicular normals to the parabola v~ = 4ax is

_1'2 =4ax o3I STS50drIS, ©owor PoRohET vvowdye PSS DothPe BRE), HododEo
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-t

: 7
yv-=2ax+a =0

~ 25 )
vit+ax+2a =0

1

d

' ;)
vy —ax+2a"=0

o |
]

-

v —ax+3a =0

Question Number : 56 Question Id : 1874633736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
2 2
" i ; . X V . : .
P 1s a variable point on the ellipse — + =1 with foc1 F, and F,. If A 1s the area of the

a
triangle PF . F,. then the maximum value of A1s

" 9
-l o :
F, 500050 F,arghen o HE 5850 —+5 =1 Pa¥ 5008 Dodod. PF.F,@b=0

-—

Sw§ ITwgo A @008, AIDwE), HOX Dend

Options :
(%4

ab

ae
b

-2

aeb

Question Number : 57 Question Id : 1874633737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

[ ]
gcollegedumas
India’s largest Student Review Platform

el



" 9 b
X- . aF
If the line joining the points A(ot) and B(J) on the ellipse 25 + ? =1 1s a focal chord.

B

: o A
then one possible value of cot—-cot—- 15

i d—

2 2

b3 :5d0 ";—s+%=1 2 A(0) 50080 B(B) o3 Bod Dochoeso §0% B e T arg
» p
LWON D, cot—-cot § Jodhy a8 Jend

Options :

12
o

Question Number : 58 Question Id : 1874633738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of a tangent to the hyperbola 165"~ 25_1-'2 —-96x+100y—356 =0 which
makes an angle 45° with ifs tfransverse axis 1s

16x° — 255" —=96x +100y —356 = 0 ©3 w8H50ErE AdS H)8dy T2 85EE vEos
45° 8’00 TR, & HGHOD DES00

Options :

y X—=y+2=0
1ﬁc-y+4=0
33:+y+2=0

A x+y+4=0
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Question Number : 59 Question Id : 1874633739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If P(0. 7. 10). Q(-1. 6. 6) and R(—4. 9. 6) are three points in the space. then PQR is

P(0. 7. 10). Q(-1. 6. 6). R(—4. 9. 6) &0 @080°¢0s R S DooPTB, ey PQR

Options :
Right angled 1sosceles triangle

ol JS0beErIv (Behedn

Equilateral triangle

QWTTO | B 0

1

Isosceles but not right angled triangle

ooufn Bghadn I8 JhcrTv (Bahadon

Scalene triangle

DRBY e (@ghedoo

Question Number : 60 Question Id : 1874633740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A(2.3.5).B(0o. 3. 3)and C(7. 5. B) are the vertices of a triangle. If the median through A is

o : : o
equally inclined with the co-ordinate axes then Cos™ ( —] —

A(2,3,5). B(a. 3, 3). C(7. 5. B) o0 .8 @ehasno @), $85ne. AkomFsh ks

3p JErHE wESveS SirS Soren B, Cos_l(ix-]:

p

Options :
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Question Number : 61 Question Id : 1874633741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The plane 3x+ 4y + 6z + 7 = 0 isrotated about the line 77 = (?+ 2j — 31?) + I(Z}_ -3j + Z._')

until the plane passes through origin. The equation of the plane in the new position is

3x+4y+62+7=0 3 o) F=(7 +27-3k)+1(27 =37 +k) s60m & Seo

DrONOHHHOET FAHIGH (FSoo Bodomrd. Srds FSoS® & doo JES0o

&
Options :
, X+ty+z=0
6x+3y—4z=

12

4x—-35y—-2z=0

X+2y+4z=0

Question Number : 62 Question Id : 1874633742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

3
s, | X7 ¥ _ : :
If 11111{ 5 1-—(&’1'+ﬁ)} exists and equal to 2 then the ordered pair (o. ) of real numbers is

o b el

3

: x +1

hm{x,, 1—((1.1+,3)} SgEQER0PSr, 2 8 J5r3308, TrISdopge Eloodnso (a. f)
x—e | x4

Options :

(1)

, (=2.1)
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4 (1* _2)

Question Number : 63 Question Id :
Single Line Questiﬂn Option : No Option Orientation : Vertical

1

! e
For k" 0. Z‘—'llﬂl (1——) [—-] —
= x!noe= (n—x)! n n

FR ! S A
k=08, Z — lim o2 (1——) (—"] =
= X! (n—x)! Z n.
Options
2 K
3 X
4 1

Question Number : 64 Question Id :
Single Line Question Option : No Option Orientation : Vertical

Let /: R— Rbe the function defined by f (1) =

then f1s

TR R @3 H30cs0

5 r<lwowna
f(r)_40+bx. l1<x<3eond

b+5x. 3<x<5wond

30 . x25wond

™ IS, foIb

if <1
i l<x=3
if 3€x<5

if x25

-

el

1874633743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

1874633744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Options :

continuous ifa=5and H=5

a=5.b=5ewd @Diﬁgc‘iﬁ)u

contmuous ifa=0.5=5

a=0.b=5wvw0a @3%@“

]

continuous ifa=-5.5=10

a=-5.5=10 @013 @-Dﬁ{f*j@u

not continuous for any values of @ and 5

, @bo D DITBT BIYFo

Question Number : 65 Question Id : 1874633745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Let [x] denote the greatest integer less than or equal to x. Then the number of points where

the function v = [1] + |1 - 1| —1< x £3 1s not differentiable. 1s

X 8§ JirdSo edy O x 0B S5 S iy H0X Trgosw) [x] SrdRedSFomro. wdyd

£

GPhabo y=[x]+[1-a], ~12x<3, 0 DobPe 5§ wsEedabo 6, & DohPHe Sowg

3

Options :

1 X

,1

12

Question Number : 66 Question Id : 1874633746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 67 Question Id : 1874633747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

e , , | dv d*y
If v = f(x) 1s twice differentiable function such that at a point P. _d =4, y 5= —3. then
hY K"

y=fix) ©36 Bododrs widsodo DG [Wooho vIh&r Dotk P3G

.dr d*v {2
— =4, —5-=-3 was, (d:\ B
),
Options
64
3
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L
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Question Number : 68 Question Id : 1874633748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The time T of oscillation of a simple pendulum of length L 1s governed by T =27 2 .
g

where g 1s constant. The percentage by which the length be changed in order to correct an
error of loss equal to 2 minutes of time per day is

L 268 Ko of dird; Sofin Bud, ssgssoo Te3d T=2r =, g 260
o

. @ DE0R,
S 9

e |
K)E:%uzﬁmésf:ﬁau&. Sard 2 QB0JAN0e TON0SB SIS :6:'3 &'hB00%0 J0TCHT 8

TR FEPD SOl TS0

Options :
1 18
2
:: 9
1
6
b 1
|
s 9

Question Number : 69 Question Id : 1874633749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Let A. G H and S respectively denote the arithmetic mean. geometric mean. harmonic
mean and the sum of the numbers a,. a,. as. ... a,. Then the value of x at which the function

n
f(x)= Z (x—a ):E has minimmum 1s
k=1

QOPELY Ay, Ay, Q3. ... A, © BVOEEFA0, WDIFFA0, TT°GE NP0, INTTON
| n
2
Scodm A, GH. S o8 KHi8om5osisos. edyk phabo f(x)=) (¥—a;) 635 densso
k=1

50N GoBoHH Ko x dend

Options :

| S

Question Number : 70 Question Id : 1874633750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Form > 1.n > 1. the value of ¢ for which the Rolle’s theorem 1s applicable for the function

f(x)=x"1 (a- :r)zn in (0. a) is

0.a)S* m>1.n>1o& f(x)= A'Em‘l(a—x)‘?" Pooiras 'S Rarodo ©305EAa00
@-dﬂag ¢ B8, DS

Options :
2am—1
m+2n—1

L

ra(m—n+1]

= 2m+2n

!,.
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| a(.?.m-—l)

2m+2n—1

-
& [

Ia(.’lm +1)
4. m+n-—1

Question Number : 71 Question Id : 1874633751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

25 +1. forxe [-1. 0)
If the function /: [-1, 1] = R defined by f(x) =11 forx=0
2" -1 forxe(0.1]

then. in [-1. 1]. f(x) has

()

*+1. xe[-L0)8
f:[-1.1] > R&% f(x)=11 x=08§
2*-1 =xe(0.1]8

Options :
a maximum

28 ﬁ&‘;{gu &GO

a MInImum

&8 §§Jéu &0l

12

both maximum and mimnmmmum

. pon ot o : 4 .
ﬁO%&u, édﬁm Do €5 T7)OW

L

neither maximum nor minimuim

ﬁ{}%u 5 0, éf&fﬁu 5 I8 Goddd

Question Number : 72 Question Id : 1874633752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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1—1

dx =
(x +1)J1 +1 +1

Options :

2Tan™ IL\/1+1+

\-...__...-v"'

L2

Question Number : 73 Question Id : 1874633753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If I(x) = J‘xz (log .r)z dx and I(1) = 0. then I(x) =

I(x)= [x*(logx)’ dx. 1(1) = 0 o, ey I(x)=

Options :
3 3 7
—| 8(logx "—3109..':|+—
 J5LSlloex)’* -3logx [+ 2
> ?
'—[9(log x)” +6log 1':| -—
v 2

[ (logx)’ —6log x +"]
27
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i

=] 9(1ogx)’

.. T

9

Question Number : 74 Question Id
Single Line Question Option : No Option Orientation : Vertical

—61021—'?]+ '
9

X dx
J'( : 61 X

X“+x+ I)(x + 1)(:{'1 —2 .1'-—1)

Options :

log 3‘6 1
=e
1.6 |

+C

=

Question Number : 75 Question Id :
Single Line Question Option : No Option Orientation : Vertical

J' dx ’
x+yx—1

Options :

log, | X~

log,

;
«/3

3

x +F‘ Tan™

: 1874633754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

1874633755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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2 x—1+1)
: ngoq X+x— ‘ Tan™ \E J+x.
log, .T-I-\h'—l‘-i"[an-{: I\/_=l+l}+c
" 3

Question Number : 76 Question Id : 1874633756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1.2, =
log,2 Ve -

Options :

3, .,
2-log,2

L2

| 3
S'IOgE ¥

Question Number : 77 Question Id : 1874633757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

lo_e(l+ x)
1+ x°

dx =

G._—

Options :

T
i 2
—log, 2

T
Eloge 6

-2

— log, 8
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gloge 2

Question Number : 78 Question Id : 1874633758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the area of the circle x° + j-‘?* = 2 1s divided into two parts by the parabola v = x°. then

the area (in sq. units) of the larger part 1s

2 7

. / - a . 2 ? wh
NBo x"+y =2 BwE), ITUER) ITJOCLo y=x" To T DLPLR A
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If ¢ is a parameter. then the differential equation of the family of curves % = ¢ (v+c) 1s

. .
¢ HOWET Ko Sgte Sotvonsn 1’ =c(y+c) Bog wifod SD¥bBEw

Options :

NI N
1(5{1—] +1[*(-fj—] -1=0
L dx ax

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



' 3 2
1(01—1) —1‘(di) +1=0
dx TN

12

Question Number : 80 Question Id : 1874633760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If £(x). f'(x). ”(x) are positive functions and f(0)=1. f’(0) = 2. then the solution of
| f& F
%) JF 0

the differential equation =0 18
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Question Number : 81 Question Id : 1874633761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the charge of electron‘e’, mass of electron ‘m’. speed of light in vacuum ‘¢’ and Planck’s
constant ‘h’ are taken as fundamental quantities. then the permeability of vacuum ‘y,’ can
be expressed as
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The velocity of an object moving in a straight line path 1s given as a function of time by
2 o L; o . .

v=67—31". where vis inms™. 7is in s. The average velocity of the object between 7= 0

and 7 = 2 seconds 1s

DETBP G0t SOXH) w8 SNYH BE), Kok Loy, Baho v=61—3Fm
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Question Number : 83 Question Id : 1874633763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A gun and a target are at the same horizontal level separated by a distance of 600 m. The
bullet is fired from the gun with a velocity of 500 ms . In order to hit the target. the gun
should be aimed to a height /7 above the target. The value of /1 is

(Acceleration due to gravity = 10 ms™)

a8 S8 So0ain ©Fgo Todkr w08 HTES 600 m Srdos® &l RS XD,
S 08 500ms™ 3H0s* 28 0BES Domh. & wBE oFgA) PYSor E5To0d,
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A projectile 1s thrown in the upward direction making an angle of 60° with the horizontal
with a velocity of 140 ms™. Then. the time after which its velocity makes 45° with the
horizontal is

(Acceleration due to gravity = 10 ms™)

o8 ($805™Q) 140 ms ! 3K08° 88z $5080°08 60° Fwo FHIZom é*fgs&:.’d‘ DT K.
&2 J5rod808" o0 IKo Bodw Fwo 45° eHLd L’)é}ﬂgs*uu
(o585 Sedevo = 10 ms™)
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The maximum value of the applied force F such that the block as shown in the arrangement
does not move 1s

- : =N
(Acceleration due to gravity = 10 ms ™)

& 008G Wrwd 830) SEOOT GodLR (RAFrNoN wvo F Jwg) A0Q Jensd

(o885 S50 = 10 ms™)
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25 :
A rough nclined plane BCE of height [?] m 1s kept on a rectangular wooden block
ABCD ofheight 10 m. as shown in the figure. A small block 1s allowed to slide down from
the top E of the inclined plane. The coefficient of kinetic friction between the block and

1
the inclined plane is 3 and the angle of inclination of the inclined plane 1s sin” (0. 6). If the

small block finally reaches the ground at point F. then DF =

(Acceleration due to gravity = 10 1115_2}

: 25
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Two particles P and Q each of mass 3m lie at rest on the X-axis at points (—a. 0) and (+a. 0)
respectively. A third particle R of mass 2m mitially at the origin moves towards particle Q.
If all the collisions of the system of 3 particles are elastic and head-on. the total number of
collisions in the system is

e85 8 3m KBigorado P odain Q @3 Bok Eearen X-wgow 803 (—a. 0) So0ak0
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A motor engine pumps 1800 litre of water per minute from a well of depth 30 m and allows
to pass through a pipe of cross sectional area 30 cm”. Then the power of the engine is

(Acceleration due to gravity = 10 1115‘“2)

o8 Jovdrdd oo 30 m SR R od dards 1800 ééag DB '8, 30 cm?
DEEFS JTogo o FLID THo" HoVRID. w8 & dDodn FBoggsn
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A solid sphere of mass 100 kg and radius 10 m moving in a space becomes a circular disc
of radius 20 m in one hour. Then the rate of change of moment of inertia in the process is

&8 wodrrdod” 100 kg @5gore o0adn 10 m ogrgo fo SHaihs) WINFo w8
fotres® 20 m Tgrgolio s D™ Sr00h. wond RELES Y 2E&] 1P 80
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A semuicircular plate of mass ‘" has radius *7” and centre “¢’. The centre of mass of the
plate 1s at a distance ‘x” from its centre ‘¢’. Its moment of inertia about an axis passing
through its centre of mass and perpendicular to its plane 1s
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Two bodies of masses m, and m, initially at rest at infinite distance apart move towards
each other under gravitational force of attraction. Their relative velocity of approach when
they are separated by a distance ‘r’1s

(G-Universal gravitational constant)
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A planet 1s revolving around the sun as shown in the figure. The radius vectors joining the
sun and the planet at points A and B are 90 10° km and 60 x 10° km respectively. The ratio
of velocities of the planet at A and B when its velocities make 30° and 60° with major axis

of the orbit 1s
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A solid copper cube of 7 cm edge 1s subjected to a hydraulic pressure of 8000 kPa. The
volume contraction of the copper cube 1s

(Bulk modulus of copper = 140 GPa)

7 cm ghzo fo of 08070 oo 8000 kPa T o8 DETVE HBTVTH. T°h Posoes?
DNT D5H0Sr Hof'Fo
(oo wod eeso 140 GPa)
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A long cylindrical glass vessel has a pin hole of diameter 0.2 mum at 1ts bottom. The depth
to which the vessel can be lowered vertically in a deep water bath without the water entering
into the vessel 1s

(Surface tension of water = 0.07 Nm ™. Acceleration due to gravity = 10 ms™)

25 PUIN ‘é:a.gi‘)*s”d @ edoeriios” 0.2 mm Fgdofe wf I Jogo Sod.
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The focal length of a spherical mirror made of steel 1s 150 cm. If the temperature of the
mirror increases by 200 K. its focal length becomes

(coetficient of linear expansion of steel = 12 10°%°c™)

©8,& DoDLES w8 Aesd SGmo g, TErgoddo 150 cm Sdywo BwE), s
200 K 8038, o0 Jrergoddo
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A metal rod of length 10 cm and area of cross section 2.8 10~ m? is covered with a non-
conducting substance. One end of it 1s maintained at 80 °C. while the other end is put inice
at 0 °C. It 1s found that 20 g of ice melts in 5 min. The thermal conductivity of the metal in
JsTmtKis

(Latent heat of ice is 80 cal g™)

10 cm 28 $08asm 2.8 x 107 mzmdgiﬁﬁé ITog0 EONS e S'TYH B a8 Pwods
808 HE Gomd. T e D565 80 °C 5§ God, BodS DSEH 0 °C 3§ Ko
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;
A gas expands with temperature according to the relation V= kT/3 . where £ 1s a constant.
Work done when the temperature changes by 60 K 1s

(R-Universal gas constant)

08 TPO0N) ﬁr:gtﬁéé‘ V= kT% (288 'k %Wuéu) QOWOPOIE B0 Eg?&@u&.
&S 60 K SrB5596 2005 53
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An 1deal gas 1s taken through the cycle A— B — C — A as shown in the figure. If the net
heat supplied to the gas in the cycle 1s 5 J. the magnitude of work done during the process
C—Ais

08 e8d) Traind Do Srddtn A5 B 5 C 5 A HEHS* 8050 I, &
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The average translational kinetic energy of a molecule in a gas becomes equal to 0.69 eV at
a temperature about

[Boltzmann constant = 1.38 x 107 JK™']

28 TENHOR GPYo HLn FToSE K828 0.69 eV odhy GHE wIrKM
(5°G508 Horoso =1.38 x 107 JK)
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An earthquake generates both transverse (S) and longitudinal (P) waves in the earth with
speeds 4.5 km s~ and 8.0 km s~ respectively. A seismograph records that the first P-wave
arrives 3.5 minutes earlier than the first S-wave. From the seismograph. the epicentre of

the earthquake is located at a distance

0§ grgodBn B85S (S) Ho0an whBYg (P) Sdofiswess SEvm 4.5 km s So0a%w
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th
. : 1
An observer moves towards a stationary source of sound with a speed z of the speed of

-

sound. The wavelength and frequency of the waves emitted by the source are ‘A" and ‘f”

respectively. The apparent frequency and wavelength heard by the observer are respectively
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An object 1s placed 0.1 m infront of a convex lens of focal length 20 cm made of a material
of refractive index 1.5. The surface of the lens away from the object 1s silvered. If the
radius of curvature of the silvered surface is 22 cm. then the distance of the final image

from the silvered surface 1s

1.535a8 SELSS Hee¥o, 20 cm Trgfgoddo Ho el Howrsd SLgodss 0.1 m Swodd
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In Young's double slit experiment. if the slit separation 1s twice the wavelength of light
used, then the maximum number of interference maxima is
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Three charges of each magnmitude 100 puC are placed at the corners A. B and C of an equulateral
triangle of side 4 m. If the charges at A and C are positive and the charge at pomnt B i1s
negative. then the magnitude of total force acting on charge at ‘C" and angle made by 1t with

AC are

285§ & 100 puC H8drwo Ho Surd sdzod 4 m ghzo Ho of SDwTdv (Bhzo
SwE), 30e0 A.BSoddin Co 38 &omrdh. A%doin Co $8 dalzod Sodasn BIE
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An inclined plane making an angle 30 with the horizontal 1s placed 1n a uniform horizontal
electric field of 100 Vm ™ as shown in figure. A small block of mass 1 kg and charge 0.01 C
1s allowed to slide down from rest from a height h = 1 m. If the coefficient of friction 1s
0.2. then the acceleration of the block is nearly

(Acceleration due to gravity = 10 ms™)

§6z JSSrodBod 30° o BAhS) wf Trendeod DHLod® Wrdbdtom 100 Vm™
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A capacitor 1s made of a flat plate of area A and a second plate of stair-like structure as

. i IS —— '
shown in the figure. The area of each stair is — and the height is d. The capacitance of the

arrangement 1s
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The radius of a soap bubble is 7 and the surface tension of the soap solution 1s S. The

electric potential to which the soap bubble be raised by charging it so that the pressure
inside the bubble becomes equal to the pressure outside the bubble 1s

(€ o - permittivity of free space)
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The ratio of heats generated through shunt and galvanometer is 7:5 when they are connected

to make an ammeter. If the resistance of the galvanometer 1s 112 € then the resistance of
the shunt 1s

0 BANLEN SoirdHBoinbsd Godn HON rotTirdsod SO0, 78 o
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When an inductor of inductance —;?,-H . a capacitor of capacitance S?O uF and resistor of
resistance R are connected 1n series with an ac supply of rms voltage 220 V and frequency
50 Hz. the rms current through the circuit 1s 440 mA. Match the inductive reactance (X ).
the capacitive reactance (X.). the resistance (R) and the impedance (Z) of the circuit given
m list-I with the corresponding values given in list-I1.

50
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Ho a8 VE'EEEH @3S ims 582 220 V Hocdn rS:ddgo 50 Hz Ko o8 ac58H0°8

UF o 2.8 3roddd Sodoin d8'%o R
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List-1 List-1I

rde-1 rdae-11
A X, ) 200 Q
B) X M) 300 Q
C) R ) 500 Q
D) Z IV) 600 Q
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Assertion (A):

Reason (R) :

AHSSco (A):

60 (R):

Options :

When a proton and a neutron enter into a transverse magnetic field with
equal speeds. then they trace circular paths of equal radu.

In a transverse magnetic field. the period of revolution of a charged particle
in a circular path is directly proportional to the mass of the partice.

8655 ©aar), 08 FBoS A8 oS S s’ HI0DS o (P Sodain
Srgrdoe IS TErTer o HITET HFod @Hairdow.
w8 8YgE wabId o8 FFod® fEsd Srdost HONT) of IS o
S, VIS 00, T (BS50788 VRS IS 0eS” God.

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(A) D8a3n (R) &0 Todr S80S 03w (R) @386 (A) & S80S D8
1.

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)

-2

(A) 26050 (R) en Bodr $8G03D 59 (R) ©3b (A) & S050S 560 59

(A) 1s correct but (R) 1s not correct

(A) 365058 8 (R) S050358 5°5

(A) 1s not correct but (R) 1s correct

(A) 66056 5% 50 (R) $6&56
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Question Number : 111 Question Id : 1874633791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

th
1 : ' .
If only 51 of the main current is to be passed through a galvanometer then the shunt

th
required is R, and if only 51 of the main voltage 1s to be developed across the galvanometer.

then the resistance required 1s R,. Then iz =
1
« 4 :
28 PerASdESn Nod PErd IS Wb’ 51 S Bod Sr@F DSTroLB
1
slond L0 JAESw R, 5O Ig2 T 5 508 SMGEDH TogRIrSES0
L o N = T4 o rR»"J
SoHLR 5H0NS ATEIN R, wond ?z
1
Options :
B,
1 500
50
5 2
500
3. 3
4 500

Question Number : 112 Question Id : 1874633792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The magnetic field at the centre C of the arrangement shown 1n figure 1s

D0S" Wrddidin &F) wldES soo C 2 WoLA08 3o

Options :

1o

Question Number : 113 Question Id : 1874633793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

To measure a magnetic field between the magnetic poles of a loud speaker. a small coil
having 30 turns and 2.5 cm’ area is placed perpendicular to the field and removed
immediately. If the total charge flown through the coil is 7.5 x 107 C. and the total resistance
of wire and galvanometer 1s 0.3 €. then the magnitude of the magnetic field 1s

w8 TEES edhb 08 HiTe Dy BER) Feohbd 2.5 cm’ ITego O/ 30 o
o D) Sty BEE ©onbes® $0d, Sotid wabbss e, SKthe TG0 HSTroDS
ango wddo 7.5 x 107 C, 8K S00ckn mershibe 3ndo 60 0.3 Q wowd,
©dbI,08 JE D0Srwo

Options :
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0.03T

03T

12

3.3T

3x10°T

Question Number : 114 Question Id : 1874633794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In an oscillating LC circuit. the maximum charge on the capacitor is Q. The charge on the
capacitor when the energy is stored equally between the electric and magnetic fields 1s

28 G'od LC Sodhos’, 3rabda plepe aw3do Q. Qo DO woLAY0s EERS
gy 480 ddrdor Jog FISIYH Brobdn eldo

Options :

Q

2

8
B

g

L-2

4 N -
Question Number : 115 Question Id : 1874633795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

An electromagnetic wave of frequency 1 » 10 Hz is propagating along Z-axis. The amplitude
of electric field is 4 Vm ™. then energy density of electric field will be
(Permittivity of force space =8.8 x 1072 C*° N m™)

1 x 10"* Hz 285850 Ko a8 dsdgscshodn, o8 $8offo Z-wo Sond Hasrdined. gs
3o BE), oS HBE 4 Vm™, wowd BIPE IS FFo Ros), ¥§ FoEd

(Erdg oirs8Q H0)308 =88 x 1072 2N m)
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Options :

| 352 %1077 Jm™

70.4 x 107" Jm™

2

3 704 x 1071 Jm™

, 352> 1072 Jm™

Question Number : 116 Question Id : 1874633796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a photoelectric experiment. a monochromatic light 1s incident on the emitter plate E. as
shown in the figure. When switch S, is closed and switch S, is open. the photoelectrons
strike the collector plate C with a maximum kinetic energy of 1 eV. If switch S, is open and

switch S, 1s closed and the frequency of the incident light 1s doubled. the photoelectrons
strike the collector plate with a maximum kinetic energy of 20 eV. The threshold wavelength

of the emutter plate 1s

H06° SrdS DForr &b 208 IES HOS HAErKoS® STEE S0k ED o IESY 5708
DSSIB. VS G, D Bord, DS S, K BEVSYHB D80S Jo¥ CJ &' NEERSEY
1 eV H0Q 182388 en8ui0. Do §;X0 BED, 08 S, Hord, S8 5708 JwE), FIYTER)
B0 TS, WE0D S P& Joioen 20 eV 107 fdx 988" erhd. &Il Jod
GBws), wdog SGoNBYgo

ESY 508
Monochromatic light
E ‘C
M | S~
s,
I 3V
Options :
1. 2233.3 A
. 41333 A
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, 4166.7A

4 2336.7 A

Question Number : 117 Question Id : 1874633797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a system. a particle A of mass 7 and charge —2¢ 1s moving in the nearest orbit around a

very heavy particle B having charge +q. Assuming Bohr’s model of the atom to be applicable
to this system. the orbital angular velocity of the particle A is

&8 SgSPS°, +quB¥o Ho wf ©8 8 Swo B by m $S5goee Sodddn —2g e3do Ko
&8 200 A ©8 &if0 SEgS° SDHMID. & SgI8 '8 DHISrmo ST 583208
@d08008, Eo0 A B8, 557§ §'e8od IKo

Options :

' 2.1
2rm=q-

co b’

‘ .
3mm’ q-

3
eg h”

Lo

27m q4
i
es b’

' I
S~ q*”
e i

Question Number : 118 Question Id : 1874633798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a nuclear reactor the activity of a radioactive substance 1s 2000/s. If the mean life of the
products is 50 minutes. then in the steady power generation. the number of radio nuclides is

28 Srg8aind Ooirg6e® BADr T8 E Sag Eiriod 2000/s e Siitn D850
50 QWTeo o JoEE IS &G HBS" VAR Sodse Jopg

Options :

12 x 10°
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, 60 % 10°
. 5
5 90 x 10

. 10°
, 15x10

Question Number : 119 Question Id : 1874633799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a p-type semiconductor the donor level 1s at 50 meV above the valence band. To produce
one electron. the maximum wavelength of light photon required is

(Planck’s constant = 6.6 x 10~ J-s and speed of light in vacuum = 3 x 10° ms™)

¥ pSEo WITTELS' d Pon Hodrat HEDS 50 meV 5§ od. uf JogEH
&8 DS VIS 5708 FLrd DwE), H0L S5orBY gdw
(08 Yoroso = 6.6 x 107 J-s 50050 BS50s* 50858 =3 x 10° ms™)

Options :

1 0.0248 pm

0.248 um

L3

2.48 um

248 um

Question Number : 120 Question Id : 1874633800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A signal of frequency 10 kHz and peak voltage 10 V 1s used to amplitude modulate a carrier
of frequency 1 MHz and peak voltage 20 V. The side band frequencies in kHz are

10 kHz &dedgsn, 10V 2pd 5‘%& fo el 308808 1 MHz rdedsghn, 20 V 39
S8 Ko af THE SBorr) o5 HOWS SrdgBAS Dosobss TEB. wowd )
dPo Py devder kHz o

Options :

. 1010. 990
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Question Number : 121 Question Id : 1874633801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The wavelength of a microscopic particle of mass 9.1 Timd kg 1s 182 nm. 1ts kinetic
energy in J 1s
(h=6.625 x 107 I s)

9.1 x 107 kgo (@Sgoase Sr§80d $8orBEg0 182 nm en wwod & K82¥g T 0"
(h=6.625 x 10>*J 5)

Options :
. TAex WP

7.28 x 1072

12

3.64 x 1072

10

o
o)
N

Question Number : 122 Question Id : 1874633802 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The energy of an electron in an orbit of hydrogen like 1on with an orbit radius of 52.9 pmin J is

(ground state energy of electron in hydrogen atom 1s —2.18 ~ i

8¢ argrghn 52.9 pm o T@acorod) udire $Eg00 Joge ¥ T od”
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Options :

| —4.36
_—1.09
o 2,
, —8.72
—6.54
4

“
A,

~

10—13

x 107

" 10—18

Question Number : 123 Question Id : 1874633803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following the electron gain enthalpy of elements 1s correctly arranged?

Bod T8S* BAS* Srose QOFR [Ty oTd) J0GNS FEDING” WG wdod?

Options :

' S=Se>Te>0

-2

F>Cl>Br>1
Na=Li=K>Rb

IO.}S}SEZ}Te

Question Number : 124 Question Id : 1874633804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following orders are correct against the property given?
I) dipole moment

M) Covalent bond length
II) Bond order

NF,>NH, >BF,
C-0>N-0>0-H
C,>B,>He,

Bod WrR0AY GUTE IS &) Q Biren S00ID?

) &geod rdoso
I JSoBrzdod 20&BY 50

) eodEHo

Options :

NF, > NH, > BF,
C-0>N-0>0-H
C,>B, > He,

-

el
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Question Number : 125 Question Id : 1874633805 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The molecule/ion having diamagnetic nature and a bond order of 1.0 1s

$odor ©odoAY 08 J0erHo 00i woPENo 1.0 fo wed/woirs

-

Options :

. He;

L
I

Question Number : 126 Question Id : 1874633806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the kinetic energy of O, gas 1s 4.0 kJ mol . its RMS speed in cm s is

0, >°a50%) $82¥8 4.0 kJ mol™ @ons od RMS 3Kc cm s~ o0&

Options :

| 5.0 x 107

5.0 x10°

L-2

5.0 x 10*

L

5.0 x 107*

[ ]
gcollegedumas
India’s largest Student Review Platform

el



Question Number : 127 Question Id : 1874633807 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The volume of 0.02 M acidified permanganate solution required for complete reaction of
60 mL of 0.01 M T ion solution to form I, in mL is

60 mL © 0.01 MT ocrs @5nos® rom $6gTod L, DEerat e5ons 0.02 M
SE)E JTYONRE TS0 PSD0Sreesw mL ot
Options :

, 60

12
2
o

Question Number : 128 Question Id : 1874633808 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

6 g of graphite 1s burnt in a bomb calorimeter at 25 °C and 1 atm pressure. The temperature

of water increased from 25 °C to 31 °C. If AH of this reaction is —248 kJ mol™. find out
C, (inkJ K™) of bomb calorimeter.

25 °C So0cdn 1 atm 280 38 6 go (RS e wrod 3 0LLES" SoodoTd. JE
&S 25 °C $008 31 °C % ON0L. & $8g% AH dend —248 kI mol™ wond eros
35°08006 C, (kI K 06*)s §5:8% 08.

Options :

| 20.667

L2
=S
[e—
o)
L

1488

s

0.145

Question Number : 129 Question Id : 1874633809 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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In which of the following, the solubility of AgCl will be minimum?

Bod T8S* BIS* AgCl |Hdad K07

Options :

- 0.1 MKNO,

0.1 M K(Cl

L-2

0.2 MKNO,

T. .
i Water

Question Number : 130 Question Id : 1874633810 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of species of the following that can act both as Bronsted acids and bases 1s

- a

Bod zrdod’ o6 siremrd HOSL Fremd IV T8 Jopg Jod?

HCL Cl0j. “OH. H*. H,0, HS0;.S02™.H,S0,.CI"

Options :

1‘ 4

[
]

[

Question Number : 131 Question Id : 1874633811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following properties has same value tor H, and D,?

Bod dwéu@* Q0 H;‘-' 200050 DE OB JI0 DedN EOH Gotnod?

Options :
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density
del(nls]

enthalpy of bond dissociation
208 dRAT2R Juq‘:‘“@‘s

[

bond length

2008 Q%u

melting point
4 IS DT DS @;Eéu

Question Number : 132 Question Id : 1874633812 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements from the following.

[) Tendency to form halide hydrates gradually increases from Be to Ba down the group.
[I) Tendency to form stable super oxides increases from Li to Cs down the group.

II) Low solubility of LiF 1s due to 1ts high lattice energy.

IV) Solubility of carbonates of group-2 elements increases down the group.

Bod THS® JOGS Jdbods HoEw0

) &8é6 T@Elod :3636‘3 é’.ﬁ}ggu e S* 8ob8 Be Sood Ba o Edomr dibhse.
D) 005 06 sFcod DB Fdodgo (ryS” (5obs Li Sood Cs %o Lo,
M) LiF Go¥), weo) [TS80088 s¥mo "8 o wdl 88 o8 ¥§ .

V) (-2 Srosre 0380 ETHB8cHd KrHS® 18oBE &S,

Options :

LI

LIV

L-2

3 ILTII

o Al
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Which of the following metals exist in liquid state during summer season?

808 S'50S* I8 0T 00 |EIEFH0S Gotaod?
Options :

, Ga

Al

[

; Pb

4 Sn

Question Number : 134 Question Id : 1874633814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Formic acid 1s heated with conc. H,SO, at 100 °C to form A and B. When Fe,O; 1s heated

strongly with B. the products formed are C and D. C can also be obtained by reacting
CaCO; with dil HC1. What 1s D?

30,8 i) mé H,S0,8 100 °C 5¢ 363ahs A H0ako B oo Ddygow. Fe,0,
B & w00 3&6Bosl C 508050 Dew bﬁg%m. C% 2035 HCl & CEICO3 b‘.’:dg E.T'Sf:f Sordd
FosSey. D 82

Options :

1 Fe

CcO

1o

Co,

Fe O,

Question Number : 135 Question Id : 1874633815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The non-biodegradable waste formed in fertilizer industries 1s

e SIS éU"g"PU"@eS‘ 336‘33 - ZJE.)Q@%‘&JE‘E o Z’Jgg ﬁa"gu

Options :
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fly ash
R AGE

I.L

carbon monoxide

s*’dzjf‘i 3}*&1335

=

gypsum

Question Number : 136 Question Id : 1874633816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following has maximum number of hybrid orbitals?

Bod S8 TAHOM KD Jopgs® Jo8s whird) Ganan?

Options :

| CﬁHﬁ

(CHy),C

-2

, (CHy,C=0

CH,-CH=CH-CN

Question Number : 137 Question Id : 1874633817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In Dumas method one gram of carbon compound gives 50 mL of N, at 300 K and 740 mm Hg
pressure. If the aqueous tension at 300 K 1s 15 mm Hg. what 1s the percentage of nitrogen
in 1t?

Grgiir SEBS" a8 (T BHS $T0)¢S50 ©od 300 K Sodcio 740 mm Hg HdSo $¢
© Howodh. 300 K :.‘35‘.;5 D IO A3 15 mm Hg @ond 706 E@*‘aﬁ

2

Options : .
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Question Number : 138 Question Id : 1874633818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sodium acetate was electrolysed by Kolbe's method to form two gases A and B at anode.

C and D are formed when B 1s heated with regulated supply of O, or air in the presence of
(CH;COO0), Mn. C reacts with NaOH to form a salt. A and D are respectively.

FAaDo IHBED §'B) $58S° DogS dFee mIoTK ISESEG Vo TinIer A, B
Seos@on. B & (CH;C00), Mn 350806 doho@s H0srmoto 0, 8o moes*
383559% C.D e Jygon. NaOH & C 385500 olmod IGkhHss. A, D e

Options :

 €0,.CH;COOH

CO,.H,0

-2

C,H,. H,0

, CO,.H,0,

Question Number : 139 Question Id : 1874633819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gcollegeduniaa

el



What are Y and Z in the following reaction sequence?
Bod S80S Sges’ Y Hocin Zeo 22?

g &6

(1) Mg/ dry ether

(i) CO, l
(iii) H (_3_ X
. m) H;
Gl — 3
¥
N ' -
a/dry \ 7
ether
SES
Options :
X Z
1 NaOH/CaO CH;(CH,),CH;
Y Z
NaOH / electrolysis H,C-CH,
_ NaOH /2dogé DFded
i 4 Z
; NaOH /CaO H,C-CH,
X Z
NaOH / electrolysis CH;(CH,),CH;

) NaOH / d&ogé :.}E:QEE}
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At T (K). copper (atomic mass = 63.5 U) has fcc unit cell structure with edge length of x A.
What 1s the approximate density of Cuin g cm ™ at that temperature?

(N, =6.0 x 10” mol™)

T (K) 38, 57056 (D880 885072 = 63.5 U) fec cdordd DS o008 408 @oth
DEH%0 x A £9 630, 0B ¢FES 5§ Cu Fodd gom™ o0& LirdHm Jod?
(N, = 6.0 x 107 mol™)

Options :

123

1. .1'3

=
-,

Question Number : 141 Question Id : 1874633821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of moles of solute present in the solutions of I. IT and III 1s respectively.
) 500mLof0.2M NaOH
o) 200mLof0.1N H,SO,

IM) 6 gofureain 1 kg of water

L II 500k I |rderrod® &&) @ado Irde Sopgen SH&Sm
) 500mLe 0.2M NaOH

I 200mLe0.1N H,SO,

I 1kgit3s* 6 go cdhrdoir

Options :

. 0.1,0.01. 0.1
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10.1,0.02, 0.1

[

0.2, 0.01. 0.1

0.1, 0.01. 0.2

Question Number : 142 Question Id : 1874633822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

6 g of a mixture of naphthalene (C,,Hg) and anthracene (C,H,,) is dissolved in 300 g of
benzene. If the depression in freezing point is 0.70 K. the composition of naphthalene and
anthracene 1n the mixture respectively mn g are

(molal depression constant of benzene is 5.1 K kg 11101_1)

6 g 790 (CyoHg) 5005w so@ns (CyH;) © Mo 300 gBoESS* s8hosdod. &
N800 DoV SN T 598 0.70 Kewonsd & WEFBBNS® TION, Bodee SoPodoTren
Seoam g ods

(Bods Ireord DALFSS @*@(‘S Q0)eh ‘;bqpuéu 5.1 Kkg 11101_1)

ol

Options :

1 2.60. 3.40

3.40, 2.60

-2

5 2.90, 3.10

3.10,,2.90
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Under which of the following conditions E value of the cell for the cell reaction given is
maxumnum?

Zn+ Culy) = Cuyy +Zng

Cy G,
[ 2.303 RT

at 298 K = 0.059 V. E” =_0.76 V. E° —+O.34V]

"'l..'..llzn ’!-lcu

§08 b WOgE RSB S B 0?{3&3&36‘ P80 By, E dend #0207

. | 2+ 2+
Zn{,m}v Cu{a} — Cu(m) + Zn(m}

e 53
. o
[298 K 5¢ "30; Rl 0059V, E° 77— 076V, Egaue, —+0.34V]

Options :

C;=0.1M. C,=001M
l. L

C,=0.01M. C,=0.1M

!-J

C,=0.1M. C,=02M

, C,=02M. C,=0.1M
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In the first order thermal decomposition of CyHsl ) ——>CoHy,) + HL ) the reactant in

the beginning exerts a pressure of 2 bar in a closed vessel at 600 K. If the partial pressure
of the reactant is 0.1 bar after 1000 minutes at the same temperature the rate constant in

min " is
(log 2 =0.30)

'CEHSI(?,—ACEH%, +HI ) $65 ESrol & IBrKssy Sard &%) MSS* 600K
3¢ (Bodradso EolENS wdod addo 2 bar. 1000 ddodre Shard §odradso 8
DdSo 0.1 bar wons ©B GRS ¢ 3o Yoroso min~ o&*

(log 2 = 0.30)

Options :

. 6.0x 107

6.0 107

L-2

. 305107

_.1_
, 3.0 10
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Identify the correct statements from the following.

I)  Sulphur sol is an example of a multimolecular colloid.

II) Tyndall effect is observed when the diameter of the dispersed particles is not much
smaller than the wavelength of the light used.

I) The process of removing a dissolved substance from a colloidal solution by means of
diffusion through a suitable membrane is called peptization.

IV) Eosin. gelatin are examples of negatively charged sols.

Bod ES” J0S Dddod Hodw.

D 36 FS @36 2V weod Frond wl GO dn.

I) Sozd $Oe) HAoT 0ol JIdw o Tgdo GIHRrNoS 5708 8o
éduﬁ@_%o 08 oo B89 I Sodsrdl.

) Sorond @H00d” 80i &) 0T S0gS PO GUErNed TghHdo Tgo
FohodE ) "a%éda‘au ol .

IV) adras, foiisen Serad Fdod GomTGroew.

Options :

, LILIIO

, LILIV

; LIOLIV

, ILIOLIV
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Which of the following are carbonate ores?
I) Magnetite

) Kaolinite
II) Siderite
IV) Calamine

Bod TES* ORE =0 I
D S

) EB0OIS

) 2438

IV) sro3oe

Options :

, LILIO

ILILIV

]

I. T only

1. IV only

Question Number : 147 Question Id : 1874633827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Which of the following statements 1s not correct?

808 TBS* DB HOFS DSC TE?

Options :
From SO, to TeO, reducing power decreases

1 Solo8dee @”;’nggo SO, oow TeO, & Sihw.

The order of boiling points of hydrides of 16® group elements 1s

H,S < H,Se <H,Te <H,0
(916 Sorose @G S0 o Bwg, o H,yS < H,Se <H,Te <H,0

2,
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Rhombic sulphur has Sg molecules while monoclinic sulphur has S molecules.
oo S0y6eS* Sg wenPHeo Godrow w08 IrJ’8E S0y86® 8¢ weahen

& OO0,

The bond angle in Ozone molecule 1s 117°.

58°0 wenyS' 208800 117°.

Question Number : 148 Question Id : 1874633828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Noble metals like gold and platinum are soluble in which of the following mixtures?

2030, FEBJ0 08 &) S* 50 1808 @ WD oeS* ESHS?

Options :
1:1 mixture of conc. HNO; and conc. H,SO,

 1:170g HNO; 536050 g H,S0, 0 do@so

1:3 mixture of conc. HCl and conc. HNO,
1:3 ¢ HCl 500 i g HNO; 0 oo

]

1:3 mixture of conc. HNO; and conc. HCI
. 1:3 @ HN03 S0803n e HCl o doEdoo

1:3 mixture of conc. H,SO, and conc. HC1
1:3 g H,S0, $:008% md HClo oo

Question Number : 149 Question Id : 1874633829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the set of acidic oxides.

&ﬂinﬁ @EJ@G QEJ DBoBod

Options :

1 Na,0. Ca0. BaO

gcollegeduniaa
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. ZnO. PbO. BeO

3

4

CO.NO.N,0

Mn,O,. CrO;. V,0,

Question Number : 150 Question Id : 1874633830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The wavelengths of light absorbed by the complexes

[Ni(H30)6]2+ .[Ni(en )3]2+ .[Ni(HEO) ” er:]2+ are A,. A,, A; respectively. The correct

order of wavelengths is

L-2
=
1'.Iwr"
¥
V
5

.[Ni(er:)3]2+.[’\Ti(H20) ; en]h?éfwﬁs*w 54

ﬂ‘l

0 50 @’duﬁﬁﬁ_tﬁ:ﬁ&w

Question Number : 151 Question Id : 1874633831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

KMnO, oxidises S,O%‘ to Soi‘ in medium x and NO3 to NOj in medium y. x and y are

respectively.

oSrdko xe5* leog‘és Lso};‘ m 508

i odrREo v tLTE‘NOE EﬁJ‘NOE e Kl\fin04 @%}ééa‘au

Do, X H0SL ¥ e SBJ

Options :
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L2

acidic. basic

acidic. acidic

€530, €33
&2 &

acidic. neutral

25330, LoD
™ @

neutral. acidic

SN, e
e |

25

Question Number : 152 Question Id : 1874633832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following.
List-1
A) Teflon
B) Anionic polymerisation
C) Cationic polymerisation
D) Thermosetting polymer
808 T8I 2EHSISB0
e~ -1
A) BYS
B) oS505rdE FO5655005%
C) 5008 FONOEEH0
D) 38y 06

The correct answer 1s

éf}@:é DRI

Options :

S5 g8y

=

V)

List-1I
SnCl,

C,F,
Bakelite
Polystyrene
RL1

o - 11
SnCl,
C,F,

55(;3_ &S
O N0

&
RL1

gcollegeduniaa

—



= [
< 1n

H IO

>
|t
(@'
|,

[
loe)
(@'
\w

=
o)
l®
|w)

Question Number : 153 Question Id : 1874633833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct set of monosaccharides present in sucrose (X). lactose (Y) and
maltose (Z).

DEE (X), oFE (Y), SrTE (Z) oS S0wond IrI'#ERE0 S8 MY owodw.

Options :

X

glucose. fructose

KrsE, $§8

X

glucose. fructose

S8, $§8

-2

X

glucose. glucose

Kr&'S, K268

&

galactose. glucose

e gé ﬁg?é

Y

galactose. glucose

ﬁ’ﬂns‘jﬁ. (‘i;?f‘é

v
galactose. glucose

I‘Ft:%jﬁ ﬁgg‘é

Z

glucose. fructose

K88, wEE

L

glucose. glucose
Ar8'8, Kr8'S
o2 L

Z
glucose. glucose

S8, (rsS

collegedunia
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X Y Z

galactose. glucose glucose. fructose glucose. glucose

mog'E, (rs's Kr8'S, ©5'E KrE'8, Kr&'E
4.

Question Number : 154 Question Id : 1874633834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following are broad spectrum antibiotics?
Penicillin G Chloramphenicol Ofloxacin Ampicillin

(I) (I) (III) (IV)

Bod TES® PG iroBwdridSer AD?
2O G oSS LSS QODROD

(I) (ID) (1) (IV)

Options :

1 I. T only

LILII

L3

ILOLIV

L. ITT only

Question Number : 155 Question Id : 1874633835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arrange the following organic halides in correct order of reactivity towards Sy;2
displacement.

Bod DoBoSH F*BER S\ 2 FSoodey SOGS Soglod ER0S" wHEyIw.

|

(CH;),C(Br)CH,CH; . BrCH,(CH,),CH; . CH;CH(Br)(CH,),CH,
(P) Q) (R)
Options :
( P> Q >R

gcollegeduniaa
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.IK}P}CQ

L-2

3P:ﬂ{}Q
, Q>R>P

Question Number : 156 Question Id : 1874633836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The bond angle between C — O and O — H bonds 1n alcohols 1s close to

s FFdoes® C—0 SHddin O -H wope &g 800 B8 GBI eotnod?

Options :

| 109°

120°

12

180°

sl

4 90°

Question Number : 157 Question Id : 1874633837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify Z in the following sequence of reactions.

B0l B Jlgod" Z & Hgothdn

Br

NaNO, /HCl C,H:OH __ KMnO,
- > X —— > Y > Z

273-278 K OH

NHll

Options :
COOH
Br
NH,

collegedunia:
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COOH
Br

COOH

1o

O/CEHS
Br

COOH

@/Br

4.

Question Number : 158 Question Id : 1874633838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify X, Y. Z in the following reaction sequence.

808 SogER06* X, Y, Z 0 £80508.

~_-O%H i Cr0;-H,80,
ii. SOCI, i
Options :
X ¥
/\( Cl H,CMgBr
3 O
X s
A M (CH,),Cd

-2

O

Z

OH/ OH
HO /\/ /

Cl

o

O
.
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X 4 Z

Cl (CHS)-’Cd HO L W OH;/ HCl (gas)
" (Sradn))
3. o
X X Z
O
)J\ OH /H"
4.

Question Number : 159 Question Id : 1874633839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

2-Methyl-2-butene on hydration gave an alcohol X. Isomer of X could be prepared from
which of the following?

2-0PS 2205833 e 8880 (hydration) J838° sepS*E X & agyod. $od 38Dl
X Qg Eyiss Q) SoirdHBasHe)?

Options :

)\/ +HBr. H,0

1.

)L T "\ MgBr.H,0/H"

L-2

H
. /KO +  >— MgBr.H,0/H"

)L <A /\/Mg Bl‘.Hzo/H-'-

Question Number : 160 Question Id : 1874633840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
India’s largest Student Review Platform
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Acetic acid on heating with NH; forms A. When A reacts with LiAIH, followed by hydrolysis
gives B. When B 1s heated with chloroform in KOH medium gives C. What are B and C
respectively?

JDEE w500 NH; & 8T Adddod. A LIAIH, & $56gmo, e 807 2oddhmo
Bo8 R B odod. B & %‘5‘3‘0@‘ KOH dirdgos® 3680 C 0dod. B $080in C e
S8 AD?

Options :

- CH,CONH,. CH, CH,NC

CH, CH, NH,. CH; CH, NC

-2

CH, CH, NH,. CH, COOH

CH, CH, CH, NH,. CH,; CH, NC
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